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MULTIPLE CHOICE

1. Find the limit lim [;z*—;g3—4;g+6j.

b= -1

6
12
-1
—-12

ac o

ANS: B PTS: 1 DIF: Easy REF: 143
MSC: Bimodal NOT: Section 1.4

2. Evaluate the limit.

nln(x+4)3[x3—9j

=1

=550
—18%
1000
135
—-1010

ANS: C PTS: 1 DIF: Medium REF: 144
MSC: Bimodal NOT: Section 1.4

°ope o

3. Find the limit.

43— 18

¥ 3 x=3

0
9
16
11
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ANS: B PTS: 1 DIF: Medium REF: 1.4.11
MSC: Bimodal NOT: Section 1.4

e o o

2
) oL xt=x=6
4. Find the limit limn ——— if it exists.
¥ 3 -
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b. 3
c. Does not exist
d 2

ANS: A PTS: 1 DIF:

MSC: Bimodal NOT: Section 1.4

=1
ve1 xo—dx+T

. Find the limit lim

[N e

1
-

d. 1

ANS: B PTS: 1 DIF:

MSC: Bimodal NOT: Section 1.4

. Evaluate the limit, if it exists.

f (x—2) — %'
B0 B
a. —7x°
b. 1
c. -7
d. 7x°
e. does not exist
ANS: A PTS: 1 DIF:
MSC: Bimodal NOT: Section 1.4
Sr+14 - a5 14
7. Find the limit lim —— . if it exists.
¥—=0 X

~f14

2
b. .f14
14

Medium

Easy

Medium

REF:

REF:

REF:

1.4.13

1.4.14

1.4.17



Does not exist

/o
B | =
=

ANS: D PTS: 1

MSC: Bimodal NOT: Section 1.4

NUMERIC RESPONSE

1.

2. Evaluate the limit.
-7
lirm {xj
¥=3| X —2
ANS: 20
7
PTS: 1 DIF: Medium
MSC: Numerical Response
3. Evaluate the limit.
bm |x+9|
¥
ANS: 0
PTS: 1 DIF: Medium
MSC: Numerical Response
SHORT ANSWER
o oxt+x—12
1. Find the limit m ————, if'it exists.

Find the limit.

£ - 25
ras i — 125

2
ANS: 15

PTS: 1 DIF: Medium
MSC: Numerical Response

¥+ 3 X —9

DIF:

REF:
NOT:

REF:
NOT:

REF:
NOT:

Medium REF:

1.4.5
Section 1.4

1.4.19
Section 1.4

1.4.37
Section 1.4

1.4.21



ANS:

7
)
PTS: 1 DIF: Medium REF: 1.4.12 MSC: Short Answer
NOT: Section 1.4
2+
. Find the limit lim —“E.
et X +48
ANS:
2
7
PTS: 1 DIF: Easy REF: 1.4.23 MSC: Short Answer

NOT: Section 1.4
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MULTIPLE CHOICE

1. Choose an equation from the following that expresses the fact that a function f is

continuous at the number #&.

a. lm f{x)=7(¢)

¥—=h

b. lin fix) =00

¥—=h

c. lm fix)=16

¥—=0

d. bm f{x) =7(¢)

¥—=0

e. lim f(x)=—o0

¥—=h

ANS: A PTS: 1
MSC: Bimodal NOT: Section 1.5

Medium REF: 1.5.1

2. Iffand g are continuous functions with (%) =2 and lim [ 2f(x)—g(x)] = 9, find g (%)

g(¥=13
g(®) =38
g(¥=11
g =4
g =->

ANS: E PTS: 1
MSC: Bimodal NOT: Section 1.5

o0 o

3. Use continuity to evaluate the limit.

lim sin(x+10smnx)

P

ST

-1
€0

ANS: B PTS: 1
MSC: Bimodal NOT: Section 1.5

° Qe o
—

=9

Medium REF: 1.5.11

Medium REF: 1.5.28



4. Determine where f* is discontinuous.

A—x o x =<0

fm=1 11-x £ 0=x=<11

(11-x* £ =x>11

—-11 only

0 and - 11
11 only

0and 11
0 only

ANS: D PTS: 1 DIF: Medium REF: 1.5.31
MSC: Bimodal NOT: Section 1.5

° o o

5. For what value of the constant c is the function f continuous on (g, co}?

cx+7 for x =12

Jlx)=
cxi=5  for x=2
a. =1
b. r=—-¢
C. =6
d ~r=-2
. =2
ANS: C PTS: 1 DIF: Medium REF: 1.5.33

MSC: Bimodal NOT: Section 1.5

NUMERIC RESPONSE

1. For x =5 determine whether f is continuous from the right, from the left, or neither.

YA

/ 3 3 5 7 9 1 x




ANS: neither

PTS: 1 DIF: Medium REF: 1.5.3b
MSC: Numerical Response NOT: Section 1.5

. Determine where / is discontinuous.

A=x o x <0

Fix= S-x tf O0=x<5

(5-z0° £ x5

ANS: atOand 5

PTS: 1 DIF: Medium REF: 1.5.16
MSC: Numerical Response NOT: Section 1.5
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MULTIPLE CHOICE

=1

1. Let Aix)=

=1 Find the following limits.
x —

i Fx), lm Fix)

P =17

3 and 1
3 and -3
both 1

3 and -1
both 3

ANS: B PTS: 1 DIF: Medium REF: 1.6.13
MSC: Bimodal NOT: Section 1.6

°ope o

2. Find the limit.

Tr=2
r=w 2+ 5
a. 2

7
b. 2

5
c. 5

2
d 7

5
e. 5

7
ANS: D PTS: 1 DIF: Easy REF: 1.6.19

MSC: Bimodal NOT: Section 1.6

3. Find the limit.

firm [4;& —?x*]

N5 w

oc a0 o
|
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ANS: D PTS: 1 DIF: Easy REF: 1.6.32
MSC: Bimodal NOT: Section 1.6

4. Find the vertical asymptotes of the function.

4z 4+1

- Ix —dx°

¥

a. x=73

| s

b=
1l

=

| s

d. 4
r=—=
3

e. None of these

ANS: E PTS: 1 DIF: Medium REF: 1.6.35
MSC: Bimodal NOT: Section 1.6

NUMERIC RESPONSE

1. For the function f whose graph is shown, state the following.

m fi{x)
¥4
] 4 |
f : \
\
X £ 3
JF
i Ja e b i
AN F § \ o
b i PR 4 HE FEEE:
F ; |
I { : ]
| 1 |
{ ] |
i Il {
ANS: —o
PTS: 1 DIF: Medium REF: 1.6.1d
MSC: Numerical Response NOT: Section 1.6
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